

# HABIC

## MELCON HABIC W

www.habic.world











### HABIC ABOUT US



www.habic.world

Habic is a next-generation Company committed to transforming lives through innovation, opportunity, and integrity. Founded with a vision to empower individuals from all walks of life, we provide a powerful platform that enables people to build financial independence, personal development, and a lifestyle. At Habic , we believe in people helping people. Through our wide range of high-quality wellness, lifestyle benefits but also create income opportunities for our global network of partners. Our unique compensation plan ensures that hard work and leadership are fairly rewarded.

Backed by a team of experienced professionals and ethical business practices, we are building a trustworthy and transparent ecosystem where everyone has the chance to grow—personally, professionally, and financially.

### HABIC







### HABIC Vision

"To empower every individual with a sustainable opportunity to achieve financial freedom, personal growth, and a healthier lifestyle through a trusted and transparent global network marketing system."

www.habic.world









### **CORE VALUES**



www.habic.world







### JOINING PACKAGE





www.habic.world









### SHOPPING COUPON



www.habic.world

## 10 Shopping Coupon **Free**







### TYPES OF INCOME

#### SELF INCOME

YOU WILL GET SELF INCOME ON YOUR PACKAGE

www.habic.world



### **RANK INCOME**

QUALIFY YOUR RANK AND GET A MONTLHY INCOME









### **SELF INCOME** 0.25\$ for 365 Days 0.25 X 365 = 90\$

www.habic.world





### 

RANK INCOME				
RANK	TON	INCOME	DAILY INCOME	MONTLHY
1 STAR	L-1	10 X 0.20\$	2\$	60\$
2 STAR	L-2	100 x .03\$	30\$	900\$
3 STAR	L-3	1000 x 0.4\$	400\$	12000\$
4 STAR	L-4	2500 x 0.5\$	1250\$	37,500\$
5 STAR	L-5	5000 x 0.6\$	3000\$	90000\$
6 STAR	L-6	10000 x 0.7\$	7000\$	210000\$
7 STAR	L-7	25000 x 0.8\$	20000\$	600,000\$
8 STAR	L-8	50,000 x 0.9\$	45000\$	13,50,000\$



## ERMS& CONDITION



- Minimum Withdrawal of 10\$ of
- Unlimited ID on One Mobile Numbar
- Deduction 10%
- Self Income Widrawal 20\$
- Instant Withdrawal

www.habic.world



Multiple 10\$





# ThankYou

wwww.habic.world

